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(1) Faster, Higher, Stronger

(2) Together from Faster

(3) Faster, Higher, Stronger - Together
(4) Faster Higher, Greater - Together

. Theidiomatic expression "Behind the Bar" means:

(1) jaled (2) charge-sheeted
(3) rebuked (4) released
. The word "PROD" means —
(1) To tir (2) To swing
(3) To get (4) To stop
Habib Tanveer was a renowned thespian in our
country.

Here the word "THESPIAN" means-
(1) Dramatist (2) Producer
(3) Script-writer (4) Investor

34. Antonym for the word, "SCOWLED", is-

35.

36.

37.

38.

39.

40.

4]1.

42

(1) Observed
(3) Located

(2) Smiled
(4) Frowned

He got a close shave for his car at the Hill-Cart
Road, Darjeeling. It means-

(1) a luck escape
(3) a narrow escape

(2) a well-guarded
(4) a clean shave

Relating to words : it means

(1) Lexica
(3) Radical

(2) Emperical
(4) Graphical

The veteran parliamentarian was the protem
speaker of the Lok Sabha. It means-

(1) For the time-being

(2) After his retirement

(3) During the budget session

(4) At the end of the house

"A Playboy" is a —
(1) Singer
(3) Poet
His mother
severe arthritis.
(1) passed away
(3) passed out

(2) Romantic fellow
(4) Chief cashier

last night, suffering from

(2) passed in
(4) passed through

Synonym for the word "VOCIFEROUSLY" :

(1) Clamorously
(3) Vividly

(2) Vocationaly
(4) Manualy

Choose the exact meaning :
The thief was caught red-handed by the residents

last night.

(D) In the very act of committing the theft

(2) On red tapism
(3) after being given

a warning

(4) with blood on his hands
Bankim Chandra was a great of his time.

(1) poet
(3) essayist

(2) novelist
(4) writer

A state which is impartial to all religions

(1) Sovereign
(3) Secular

(2) Democratic
(4) Federa
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The phrase "to live on slopes’ means-
(1) To live lavishly

(2) To engage in the activity of skiing
(3) To live recklessly

(4) To live confused

The word "MUSK" means-

(1) Cover (2) Perfume
(3) Serene (4) Medicine
. The word opposite in meaning to "NOD" is:
(1) Consent (2) Agree
(3) Disagree (4) Protest
"Lay down" means —
(1) Submit (2) Surrender
(2) Abide (4) Normalise

The I.A.S. executive gave a master-stroke by
tendering his resignation.

Here the term "master-stroke" means:
(1) superb move (2) heart beat
(2) forehand service  (4) popular support

. What is the synonym for FABLE?

(1) Story (2) Weak
(3) Truthful (4) Plant
. The platform for delivering the speech :
(1) Stage (2) Dias
(3) Podium (4) Auditorium
. The thief was beaten death by the mob.
(1) towards (2) into
(3 to (4) about
. The idiomatic expression "Left out in the odd"
means:
(1) Neglected (2) Admired
(3) Honoured (4) Omitted

Pick out the right word in favour of the underlined
word :

Sagacity increases with age.

(1) Love (2) Wisdom
(3) Maturity (4) Efficiency
Find out the correctly spelt word :

(1) Recesion (2) Receison
(3) Recesson (4) Recession

55.

56.

57.

58.

59.

61.

62.

63.

Petulant means

(1) Cranky (2) Compliant

(3) Accommodate (4) Weighty

The Govt. has decided to impose excise-duty
luxury goods during the pandemic.

(D) to (2)in

(3) of (4) on

Give the passive voice of the following sentence:

| would like someone to help me.

(1) I would like to be helped

(2) Someone likes me to help

(3) Someone is liked to be helped by me

(4) Someone likes to be helped

The Intelligence Bureau (1.B.) headquarters

in New Delhi.

1) are (2) have been

3 is (4) has to be

To place or ded with close together for contrasting

effect.

(1) To scrutiny (2) Tojuxtapose

(3) To correlate (4) To contrast

The word "flounder” means—

(1) To proceed clumsily
(2) To violate rules
(3) To dominate

(4) To win
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